
 
 

RBW  1 MHz

VBW  3 MHz

 A 

IN1

Unit dBV

P0

TDS

SWT  200 ms

Ref Lvl

 102 dBV

Ref Lvl

 102 dBV

RF Att  20 dB

Center 2.48 GHz 20 ms/

2MAX 2MA

SGL

   10

   20

   30

   40

   50

   60

   70

   80

   90

    2

  102

1 1

Delta 1 [T2]        

           -0.28 dB 

      100.200401 ms 

1 [T2]       36.86 dBV

           17.234469 ms 

1 [T2]        -0.28 dB 

          100.200401 ms 

D1 54 dBV

D2 74 dBV

Date:      18.AUG.2015  09:52:09  
 

Number of Pulses in worst case 100 ms = 5 
Advertising Mode 

 



 
 

RBW  1 MHz

VBW  3 MHz

 A 

IN1

Unit dBV

Ref Lvl

 102 dBV

Ref Lvl

 102 dBV

RF Att  20 dB

2MAX 2MA

SGL

SWT  20 ms

Center 2.48 GHz 2 ms/

P0

TDS

   10

   20

   30

   40

   50

   60

   70

   80

   90

    2

  102

1 1

Delta 1 [T2]        

           -0.56 dB 

      681.362725 s 

1 [T2]       34.82 dBV

           16.953908 ms 

1 [T2]        -0.56 dB 

          681.362725 s 

D1 54 dBV

D2 74 dBV

Date:      18.AUG.2015  09:52:35  
 

Time of One Pulse = 681.362725 us 
 

Duty Cycle = 681.362725 us * 5 = 3.406813625 ms / 100 ms = 3.406813625% 
 

The maximum 20 dB peak to average ratio can be utilized. 



 
 

RBW  1 MHz

VBW  3 MHz

 A 

IN1

Unit dBV

2MAX 2MA

SGL

Ref Lvl

 102 dBV

Ref Lvl

 102 dBV

RF Att  20 dB

SWT  200 ms

Center 2.44 GHz 20 ms/

P0

TDS

   10

   20

   30

   40

   50

   60

   70

   80

   90

    2

  102

1 1

Delta 1 [T2]        

           -1.03 dB 

      100.200401 ms 

1 [T2]       37.74 dBV

           14.829659 ms 

1 [T2]        -1.03 dB 

          100.200401 ms 

D1 54 dBV

D2 74 dBV

Date:      18.AUG.2015  09:58:18  
 

Number of Pulses in worst case 100 ms = 4 
Data Mode 



 
 

RBW  1 MHz

VBW  3 MHz

 A 

IN1

Unit dBV

2MAX 2MA

SGL

Ref Lvl

 102 dBV

Ref Lvl

 102 dBV

RF Att  20 dB

SWT  200 ms

Center 2.44 GHz 20 ms/

P0

TDS

   10

   20

   30

   40

   50

   60

   70

   80

   90

    2

  102

11

Delta 1 [T2]        

            0.12 dB 

        1.603206 ms 

1 [T2]       37.74 dBV

           14.829659 ms 

1 [T2]         0.12 dB 

            1.603206 ms 

D1 54 dBV

D2 74 dBV

Date:      18.AUG.2015  09:58:42  
 

Time of Pulse 1 = 1.603206 ms 
Data Mode 

 



 
 

RBW  1 MHz

VBW  3 MHz

 A 

IN1

Unit dBV

2MAX 2MA

SGL

Ref Lvl

 102 dBV

Ref Lvl

 102 dBV

RF Att  20 dB

SWT  200 ms

Center 2.44 GHz 20 ms/

P0

TDS

   10

   20

   30

   40

   50

   60

   70

   80

   90

    2

  102

1
1

Delta 1 [T2]        

            1.84 dB 

        1.603206 ms 

1 [T2]       37.31 dBV

           54.909820 ms 

1 [T2]         1.84 dB 

            1.603206 ms 

D1 54 dBV

D2 74 dBV

Date:      18.AUG.2015  09:59:49  
 

Time of Pulse 2 = 1.603206 ms 
Data Mode 

 



 
 

RBW  1 MHz

VBW  3 MHz

 A 

IN1

Unit dBV

2MAX 2MA

SGL

Ref Lvl

 102 dBV

Ref Lvl

 102 dBV

RF Att  20 dB

SWT  200 ms

Center 2.44 GHz 20 ms/

P0

TDS

   10

   20

   30

   40

   50

   60

   70

   80

   90

    2

  102

1

1

Delta 1 [T2]        

            4.35 dB 

        4.408818 ms 

1 [T2]       38.13 dBV

           77.755511 ms 

1 [T2]         4.35 dB 

            4.408818 ms 

D1 54 dBV

D2 74 dBV

Date:      18.AUG.2015  09:59:28  
 

Time of Pulse 3 = 4.408818 ms 
Data Mode 

 



 
 
 

RBW  1 MHz

VBW  3 MHz

 A 

IN1

Unit dBV

2MAX 2MA

SGL

Ref Lvl

 102 dBV

Ref Lvl

 102 dBV

RF Att  20 dB

SWT  200 ms

Center 2.44 GHz 20 ms/

P0

TDS

   10

   20

   30

   40

   50

   60

   70

   80

   90

    2

  102

1
1

Delta 1 [T2]        

           -1.83 dB 

        1.603206 ms 

1 [T2]       38.81 dBV

           94.989980 ms 

1 [T2]        -1.83 dB 

            1.603206 ms 

D1 54 dBV

D2 74 dBV

Date:      18.AUG.2015  10:04:53  
 

Time of Pulse 4 = 1.603206 ms 
Data Mode 

 
Duty Cycle = (1.603206 ms * 3) + 4.408818 ms = 9.218436 ms / 100 ms = 9.218436% 

 
The maximum 20 dB peak to average ratio can be utilized. 

 


